vt

A EEEF A S

w4 . o
15 x90% = [

48 X 60% — 84 x 40% =

46 SO0 69 x 50% =

4 10 — 27 x20% =

54 x 90% = 2x s

55 x40% = A=

60 x 90% = 20

19 % 800 — 80 x 90% =

25 x 50% = 106

3 x50% = 1830
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7 e SR T A
e F 35 SRUL:
15 % 90% = 13.5 7% 40% = 2.8

48 x 60% = 28.8

46 x 80% = 36.8

46 < 10% = 4.6

54 x 90% = 48.6

55 x40% = 22

60 x 90% = 54

49 x 80% = 39.2

25 x50% = 12.5

3x50%=1.5

84 x 40% = 33.6

69 x 50% = 34.5

27x20% =54

2x80% = 1.6

30 x 40% = 12

23 x30% = 6.9

80 x90% = 72

16 X 60% = 9.6

78 x 30% = 23.4
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